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[. FEEIHNEOHE

1. FEEEISBIA
O HARMPEREH A - 196, 000] A 196, 000
© fFrEBEEHIA (CEEREXIST) 98, 000 - 98, 000
@ BN CEBEXISST) 1, 000, 000 - 1, 000, 000
@ =FEIA - 1, 300, 000[ A 1,300,000
©®  FENA G BREXHGRST) 5, 500, 000 - 5, 500, 000
® DA - 5, 500, 000 A\ 5,500, 000
@ MR CEEREXHESY) 1, 000 - 1, 000
® HEA - 10, 000 A 10, 000
FEEEIAGH 6, 599, 000 7,006,000 A 407,000

2. FHEIHH) S

ORE- =< 530 6, 743, 000 5, 000, 000 1, 743, 000
© EEEIM 3,515, 000 4,665,000 A 1,150,000
G S 10, 258, 000 9, 665, 000 593, 000
L SR Ul A 3,659,000 A 2,659,000 A 1,000,000

0. TEFEHIS DO

BB TEENIA
R T PE U DA 5, 000, 000 - 5, 000, 000
BB IEENIN S 250 5,000, 000 - 5, 000, 000
M. T3 300, 000 300, 000 0
WIS AR 1,041,000 A 2,959, 000 4, 000, 000
AN S 720 3, 470, 000 5, 750, 000| A\ 2, 280, 000
e e 4,511, 000 2,791, 000 1, 720, 000
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t a x5 B LT S| R fif &
KEHA A -
LA PEE A | A PER B - 196,000 A 196,000
2. BrE UM | FEE MBI E RIS 98,000 - 98,000
3. BB | EaSBIA G IRy 1,000,000 - 1,000,000
4. BN [BBSSENA - 1,300,000 A 1,300,000
SRR RN G IRy 5,500,000 - 5,500,000
6. FFREBIA | A - 5,500,000[ A 5,500,000
7. HENN H IR Iy 1,000 - 1,000
8. HEIUA - 10,000 A 10,000
PN 6,599,000 7,006,000 A 407,000
2. NG S H O
(A1)
t a TR | AIFEE TR HER fii %
KEA FEA AN ERE| a
1. A (B A2 Bk 3 5,000,000 3,500,000 1,500,000
X FIURI A 2y 52 H 3,000 30,000 A 27,000
N 5,003,000 3,530,000 1,473,000
—RTEIE BRI 160,000 0 160,000
X a4 3 H 800,000 450,000 350,000
FIRI A 2y 5 H 80,000 50,000 30,000
i E 22 i S H 200,000 - 200,000
WS R S 100,000 80,000 20,000
HESZH 400,000 100,000 300,000
N 1,740,000 680,000 1,060,000
BEFE BRI 0 50,000 A 50,000
s a4 3 H 0 480,000 A\ 480,000
FIRI A 2y 5 H 0 30,000 A 30,000
kB Ay S 0 100,000 A 100,000
HESZH 0 130,000 A 130,000
Nt 0 790,000 A 790,000
A= 6,743,000 5,000,000 1,743,000
2. BHESH [WHEATS  |TkE AR E RS 50,000 50,000 0
e 4 S e SN 500,000 820,000 A 320,000
READ@E S B S A S 200,000 250,000 A 50,000
WG S | ERRE RS 250,000 130,000 120,000
BRI F & IS 945,000 945,000 0
THREAL 2 S HHIHFEAL B S 70,000 70,000 0
HESZH 1,500,000 2,400,000 A\ 900,000
A= 3,515,000 4,665,000 A 1,150,000
x A d 10,258,000 9,665,000 593,000




